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Instructions :

1 @

(b)

1 (a)
(b)

ENGLISH VERSION

(1)
@)

Marks are indicated on right side.

All the questions are compulsory.

What is meant by dispersion ? How does it differ
from skewness ?

Calculate co-efficient of skewness by quartile
measures.

MV.[15120 (2530|3540
F130(28(125]24 (20|21

OR

What 1s skewness ? State the tests of it.
Find coefficient of standard deviation from

following data.

10

10

10
10

x [10-20

20-30(30-40[{40-50|50-60[60-70

70—-80

8 15 7 3 0

2 (a)

(b)

(b)

State uses and limitations of cost of living index
number.
If L:P=28:27, then find the value of x.

Commodities | P, | g, | B | ¢
A 1 {1012 |5
B 115 |x

OR

Explain fix base method and chain base method

State difference between them.

Find the index number of L, P, F, D—- B and M.E.

from the following data.

Commodity | P, (g, | A | @1
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3 (a)

(b)

3 (a)
(b)

4 (a)
(b)

©

4 (a)

(b)

Explain random sampling method, state uses of it.

If Nl = 60, N2 = 1407 )_/1 = 32’ )_/2 = 35’ S12 =20 and

S22 = 40. From each strata the random sample is drawn

on 10% base. Find the population mean and variance
of stratified sample mean.
OR
Write note on systematic sampling technique.
Using the following data find the estimator of

population mean and its standard error.

N =500, n=30,Y yi =565, Y yi> = 13413.

Write note on Scatter Diagram method.
Find number of observations from following data.
>(x-%) =90, X(x~%)(y-7)=60,6,=4  and
r=20.5.
Find coefficient of correlation by given data. Where
n=10,% =25 5 =44, (x - 25)* =90, 3 (x — 44)* = 25,
Y(x-25)(y—44)=44.

OR
Explain : Regression, Coefficient of regression and
regression lines.
Find the regression equations and estimate the
value of ¥y when x =35 from following data.
x|[21(22]123]|2425(26(27 2829 (30
y ({17 (19 (19|20 |23 |24 |27 |26 (28|27
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